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Candidates are required to give their answers in their
own words as far as practicable.

1. Answer any ten questions: 2x10=20
-] v 2o T wis ¢

1)  In what sense does the conclusion of a valid

deductive argument follow from its premises?

43T (34 SRR IeTs Praie =g @gaky (&6
fasoe = e

i1) Symbolize the following by using logical
notations of propositional functions and

quantifiers:

e AP BATFS @R NaF THere

@ifes ffeice aeimie o4 ¢
No one will succeed unless he works hard.

(FT-3 HFeTo! 71 FACE Il I T (37 S ATz
(A |
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iii)

Vi)

vii)

viii)
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Why is the relation of contrariety not accepted

as a logical relation in modern logic?

sy gfeReele @ eide Rafrors @fes
THHAC TP FA A2

Is AAl avalid categorical syllogism, according

to modern interpretation? If not, why?

Y SRy SR AAL S0 5 (ae 2 7w 1 27,
& ?

What is the difference between a set of

contrary terms and a set of contradictory

terms?

i 1SS #i7 @ 76 Pm A1 e oA1ey IR e

Give the logical equivalence of the following:

RO YR THRel T T 76 ¢
ADB, AvB

Construct the truth table of the following:

fwfaisa srepmdt aoat 53 ¢

(p2>a)>(~9>~p)
State the rule of Universal Generalization
(U.G).

A A ezl el e 9|

When is an argument form invalid?

T GG Y& ST S 27 ?
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x)  What is the paradox of material implication?
oI G FoIeP 0o 6 (@R 2

xi)  What is bad analogy?
73 TNl TEICs {5 (R0 2

xii) What is crucial experiment?
foeffares ispel e

xiii) What is Mill's formulation of the method of
difference?
fet-a7 TSR ~Mafox 3@l 52

xiv) How many stages are there in a scientific
investigation? What are they?
A SPTRIE TM W A 2 ol 6 =62

xv) What is the probability of having at least one
'H' in two successive tosses of a coin?
G I G 0w Fe Srwos @ 'H S
NGOl F© 2

2.  Answer any four questions: 5%x4=20

@~ A AR Ted wie ¢

)
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a)  Give an example of simple conversion
of 'A" where the premise is true but the

conclusion is false.

'A" I I SRS G (6 BT 7S
A (@9 ey, 8 Prare [ |
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b)  What is oppositions of propositions?
21421

IR fhsiel e

a)  What information about non-A may be
derived from "All A are B"?
‘AT B” (AF “S-A” HH0F oy e
QTS A2

b) Determine the logical relation between
the following two propositions:  2+3

fFefeifie e s @ifes s
T2

All men are mortals.

Some non-mortals are men.
T [T 2 T |

(I (I S-SR 22 S |

1i1) Use truth table to determine whether the
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following statement forms are tautology, self-
contradictory or contingent: 25425

AePARAE AR oy o9 fAsfeie pasaei@
oy, FosfNe, 7 oo ¢

a) ~[(p>q)>(~q>~p)]

b) (p>aq)=[(pva)=q]
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iv)  Use truth table to determine the validity of the
following arguments: 25425
TR AR FEfie gfewlrm @ Ry
A2
a) (Iv])o(L))

~(Iv])
o ~(LD)
b) CoD
. C>(CD)

v)  Distinguish between scientific and unscientific
explanation. 5
Rl @ Sl AR [ AL T4

vi) State, after Copi, Mill's method of
Concomitant variation. 5
(I STl (3 SR Teolfaads smfe i
4|

3. Answer any two questions: 10x2=20

@I 7S Aess T wie ¢

i)
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Test the validity of the following arguments
by using Venn diagram: 5+5
confbeas ARIE ke Jfewln el fom
A2
a)  All philosophers are wise.

Socrates is a philosopher.

-. Socrates is wise.
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a1 V(e el @il |
GO T GG (el |
. GG 2 Sl |

b)  No Republicans are Democrats, so some
Democrats are wealthy men, since some

wealthy men are not Republicans.

(&I AETOFAR Ao 7% | oIk, Fg
SNTOZIRN &el, Tl g 471 ool 77 |

Construct formal proof of validity for each of

the following arguments: 5+5
ffere Jfewlr STt @l & 71 ¢
a) To(UV)

Uo(WX)

(ToW)o(Y=2)

(ToW)o~Y

~Y>o(~ZoX) /~.X

b) Bananas and grapes are fruits. Fruits are
nourishing. Therefore, Bananas are

nourishing. (Bx, Gx, Fx, Nx)

o1 '@ BIg T e | Tel B SR | ORI
3T 27 7Jf%9 | (Bx, Gx, Fx, Nx)
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iii) Prove the invalidity of the following
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arguments by assigning truth values: 5+5

AOTTeT) SN wfe @il [ive Jfewfer

(AL 2N F ¢

a) Do(EVF)

Go(HvI)
~E>(Iv])
(IoG).(~H>~G)
~J /..DD(GVI)

b) Doctors and lawyers are college
graduates. Any altruist is an idealist.
Some lawyers are not idealists. Some
doctors are altruists. Therefore, some
college graduates are idealists. (Dx, Lx,
Cx, Ax, Ix)

TSN € WEAGIT T (& JOF | ([ (Flel
SRR 2ol SN | (I (I SAEAEGI
SR TR | (I OIS 2 2RI |
SO, (I (T TS FOT g2 S/l |

Calculate the probability of the following

events: 5+5

IR Ao ABRTS! fhsid 9 ¢

a)  An urn contains 27 white balls and 40
black balls. What is the probability of
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b)

getting four black balls in four
successive drawings (A) if each ball is
replaced before making the next drawing,
(B) if the balls are not replaced?

G e :afs Al 951 @R 80fG Bt Tl
Itz | @l (ACF GF I 76 9 W
A2/ BTG ICT T AN TG T (A)
I AT AR (SR BN SRR S) TeT
sfica el oreai 2, (B) 3 #iica <=1 Refae
e« 232

What is the probability of getting three
red cards in a row in drawings from a
deck of playing cards?

9B OIeT AT (A O (BT et siwei
ToHfG #ieT S5 AT ASTS! T 2
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